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CH3CH2CH2C≡CCH3 CH3CH2CH2CH2C≡CH CH3CH2CH2CH2CH2OH CH3CH2CH2CH2CO2H

IR data from our textbook: “Organic Chemistry” 8th ed, Bruice. Pearson (2016)



CH3CH2CO2H CH3CH2CO2CH2CH3 CH3CH2COCH3CH3CH2CHO



CH3CH2CH=CH2 CH3CH2CH2CH2OH CH2=CHCH2CH2OH CH3CH2CH2OCH3 CH3CH2CH2CO2H

O-H peak All C-H stretches below 3000 cm  , so no =C-H-1

No OH on molecule
IR says no =C-H

IR says no =C-H No OH on molecule;
this is an ether.

IR says no C=O. This 
is a carboxylic acid



OH CO2H COCH3 CH2OH

 C=O below 1700 cm-1

No OH in IR No OH in IR No OH in IR C=O is too low for aldehyde.
No aldehyde C-H in IR

sp   C-H’s3benzene C-H’s benzene

CHO

Prof. Christopher Masi




O O

COCH3
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 C=O around 1720 cm
-1

sp   C-H’s3

No OH in IR

consistent with ketone

No alkyne peak in IR.
No sp C-H stretch in IR 

C=O peak too high for 
delocalized C=O.
No =C-H stretch in IR 

C=O peak too high for 
delocalized C=O.
No =C-H stretch in IR 

ketone with just sp   C-H stretches3



CH3CH2C(CH3)HCONH2

CONH2

O

-C(=O)-H
no benzene bumps

C=O at 1724 cm-1

C=O < 1700 cm-1N-H

-1C=O ~ 1717 cm
only sp   C-H’s3

3only sp   C-H’s

only sp   C-H’s CH2CHO

CH3CH2CH(CH3)CHO


